10

BIC
5%x10°

2x10°

10

log[ Relative Probability ]
—200

—400

10*

Window Half—Width (km/s)
1000

100

rm598 2/(406945 5313) 0962
i —
I : BIC 455124 59 ABIC 0.000 AlogP 0. 0000 j
. : ' x? 386499.59 Ax? 0.000 AlogP 0.0000 {
R S S —~—o— — — — — — — — |8BIC
I R
. : 2
X
I 'ABIC —46291" 1149 <( 919.7 «( |
Ay —46291" -0.6 —1224
5058 5058 5147 5313
A ; Ac5I ACSF | | ACSBF |
50 100 150 200
211 iterations
rm598 2/(406945 5313) 0962
—
: BIC 455124.59 ABIC 0.000 AlogP 0. 0000
\ 2 2
Z[ |
i A | '
I B ]
| B
I | | 1
L. .5038 _ .| .5038 . _||... ... o147, .. ... | ____________ 9313 L. ]
A AC5I ACF | L | ACBF S
50 100 150 200
211 iterations
Fe2 15% 100+333 km/s
rm598 BLR 8620 NLR 900 km/s
T T T T T T T T T T T T T T T T
SR S S S S S | 2 K
- o I s |
S e s —
:‘T]' 085G - - - - ST 5313 | Fell
:||| A ACq ACF ACBF ]
L Al L o ) | ) ) ) ) | ) ) ) ) | ) ) ) ) | N
50 100 150 200

211 iterations

kdh1 15-0ct-2021 02:47



